
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 6,593,943,261   1= ljb]zL d"b|f / ;]So"l/^L 364,746,446,000

2= rng rNtLdf /x]sf] gf]^ 358,152,502,739

hDdf lgisflzt gf]^ 364,746,446,000

hDdf bfloTj 364,746,446,000   hDdf ;DklQ 364,746,446,000

OSjL^L tyf bfloTj ?= ;DklQ ?=

1 d"nwg 3,000,000,000   1  gf]^ 6,593,943,261
2 ;fwf/)f hu]*f sf]if 20,544,849,850   2  /]RsL -
3 df}lb|s bfloTj sf]if 2,950,753,898   3  ljb]zL d"b|f 17,776,294,799
4 ljsf; sf]ifx? 10,795,889,588   4  ljb]zL a}+s df}Hbft 122,236,016,587
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 4,177,113,399
6 ;^xL ;lds/)f sf]if 62,354,476,204   6  ljb]zL a)* 121,746,158,013
7 ;"grf¤bL ;lds/)f sf]if 4,480,191,137   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if (99,664)      -s_ :jb]zL 60,279,841
9 lgIf]k      -v_ ljb]zL 245,056
   -s_ g]kfn ;/sf/ 79,480,972,701   8  nufgL

g]kfn /fi^« a}°
  2072 sflQs 30 ut]sf] dfl;s jf;nft -ckl/is[t_

g]kfn /fi^« a}° P]g, 2058 bkmf 93 -2_ adf]lhd

d"b|f Joj:yfkg ljefu

a}lsé ljefu

   -s_ g]kfn ;/sf/ 79,480,972,701   8  nufgL
   -v_ afl)fHo a}°x? 99,737,607,450      s= ljb]zL ;]So"l/^L 195,918,173,787
   -u_ ljz]if lgIf]k 100,000,000,000      v= g]kfn ;/sf/sf] ;]So"l/^L 21,222,285,517
   -#_ cGo 71,800,918,736      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 1,469,481,265
10 e"QmfgL lbg"kg]{ lan 246,136,269      #= l/kf] ljb]zL -

     ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
11 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
12 P;=*L=cf/= af¤*kmf¤* 9,804,231,168      s= g]kfn ;/sf/nfO{ -
13 cGo bfloTj 59,226,764,524      v= jfl)fHo a}+sx?nfO{ 1,453,407,713

     u= ljQLo ;+:yfx?nfO{ 65,900,000
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 4,561,656,306
  10 ;"g df}Hbft 1,620,389,384
  11= cGo ;DklQ 25,490,346,936

hDdf OSjL^L tyf bfloTj 524,422,691,862   hDdf ;DklQ 524,422,691,862

-s]bf/k|;fb kf]v/]n_ -wgGho zdf{_ -k|lbk /fh kf)*]_
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